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Question 1

Lulu opens a savings account, that earns 8,47% simple interest per year to save for a oriental carpet
Lulu 1s planning to buy the carpet i 20 months’ time when she visits her aunt in Turkey. The amount
that she must invest now if the cost of the carpet is R18 000 equals

(1] R15459,00.

2] R15718,93.

3] R15773,33.

[4] R16813,26.

[5] R20541,00
Question 2
You are quoted a simple discount rate of 14,29% for eight months. The equivalent sumple mterest rate
equals

1] 6,668%

2] 9,52T%

3] 13,047%

[4 14,29%

[5]

none of the above

Question 3

The accumulated amount that Greg will receive after 38 months 1if he deposits R13 300 into an account
paymng 11,35% interest per year compounded every two months equals

1]
[2]
8]
[4]
[5]

R14 117,08
R15 690,19
R18 080,24
R18 865,83
R18 988,31
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Question 4

Charhe received R32 412,87 after investing an amount of money in an account earning interest at a
continuous compounding rate of 10,15% per year. The amount of money that he invested 57 weeks
earlier equals approximately

(1 R29 000,00
(2] R29 153,86.
3] R29 167,68
[4] R32 768,16
[5] R36 227,38.

Question 5

Four years ago Piet borrowed R35 000 from Ina at 11,3% per year, compounded semi-annually payable
three years from now He must also pay her R50 000 five years from now. The applicable interest rate
for this transaction was 10,1% per year, compounded quarterly The amount of money that Piet will
owe Ina three years from now equals

{11 R85 000,00
[2] RS89 630,00
[3] R110 488,22,
[4] R116 508,49
5] R125 551,15

Question 6

The following figures show the profit of a flower shop for the past five years: R360 000, R550 000,
R200 000, R80 000 and R700 000. The standard deviation of the data to the nearest rand equals

(1] R225 424
[2] R252032
[3] R378 000

[4] R1 890 000.

[5] none of the above

[TURN OVER]
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Question 7

An effective rate of 29,61% corresponds to a nominal rate, compounded weekly, of

1] 26%

[ 29,53%
3] 29,61%
4] 34,35%

{5] none of the above.

Questions 8 and 9 relate to the following situation:

Dawn unll discharge a debt of R200 000 siz years from now while using the sinking fund method The
debt’s inlerest s 15,6% per year, pasd quarterly. The siking fund unll earn wnterest at o rate of 8,4%
per year, compounded monthly.

Question 8
The monthly deposits in the sinking fund will equal

[1] R1694,44
[2] R2 14584
3] R2777,78
4] R5 18341

[5] R6 494,38

Question 9
The total yearly cost to discharge the debt (to the nearest rand) will equal

[ R51533
[2] R56 950
[3] R109 133
[4 R114 334,

[5] none of the above

Question 10

Tan has inherited R1 250 000 to be paid out as he chooses Assume that money is worth 7,91% per year
compounded quarterly If Ian chooses to be paid a fixed amount every three months for an indefimte
period of time, the amount he will recerve from his inheritance every three months will be

[1] R24 718,75

2] R32958,33.

[3] R98 875,00.

4] R312 500,00

[5] R416 666,67

[TURN OVER]



DSC1630
7 Oct/Nov 2013

ROUGH WORK

[TURN OVER)



DSC1630
8 Oct/Nov 2013

Questions 11 and 12 relate to the following situation:

On 5 April Sam wvested R75 000 wn an account payng 8,37% wnterest per year, compounded monthly
Interest 1s credited on the 1st of every month. Sam wants to open a second-hand cellphone shop in the
new Talk-and-Listen complex He unll move into his new premises on 21 November of the same year.

Question 11

If simple interest 1s used for odd period calculations and compound interest for the full term, then the
amount of money that Sam will have available in the account on 21 November will equal

[1] R78 195,04
[2] R78 955,68

3] R79 002,95
[4 R79 018,82
[5] R79 020,96

Question 12

If fractional compounding is used for the full term then Sam will receive

[1] R78 439,73.
[2] R78 896,69.
[3] R79 020,29
[4] R79 027,82
[5] R79 047,39

Question 13

The number of years that it will take R6 000 to accumulate to R9 000 at an annual interest rate of 8%
compounded every three months 15

[1] 5,08 years
[2] 5,12 years
[3] 5,27 years
[4] 6,25 years

{5] none of the above

[TURN OVER]
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Questions 14 and 15 relate to the following situation:

Grace borrowed money from her mother. Grace feels that she unll only be able to start repaying her debt
after four years. She will then pay her mother R95 000 at the end of every six months for five years
Money 15 worth 18,6% per year, compounded semi-annually

Question 14
The present value of Grace’s debt when she will start repaying her mother is equal to

[1] R519995,65
[2] R586176,76
[3] R601708,66.
[4] R687736,46
[5] R950000,00

Question 15

The amount of money, to the nearest rand, that Grace’s mother originally lent her equals

[1] R237500.
[2] R247278
[3] R255294
[4 R295410

[5] R347603

Question 16

Eva wants to go overseas and estimates that she will need R35 000 for her trip. She decides to save for
this trip by depositing an amount of R500 once a month into an account earming 11,32% interest per
year, compounded monthly The approximate time 1t will take Eva to have R35 000 available for her
trip equals

[1] 40 months
[2] 54 months
[3] 70 months
4] 115 months

[5] none of the above

[TURN OVER]



DSC1630
11 Oct/Nov 2013

ROUGH WORK

[TURN OVER]



DSC1630
12 Oct/Nov 2013

Question 17

Mases bought a house and managed to secure a home loan for R790 000 with monthly payments of
R9 680,70 at a fixed interest rate of 13,75% per year, compounded monthly, over a period of 20 years
If an average yearly mflation rate of 9,2% is expected, then the real cost of the loan (the difference
between the total value of the loan and the actual principal borrowed) equals

[1] R87126.
[2] R201642
[3] R270749
[4 R588358
[5] R1060749.

Question 18

Consider Bond XXX
Coupon rate 9,6% per year
Yield to matunity: 10,4% per year
Settlement date. 17 May 2013
Maturity date: 14 December 2036

The all-in price equals

[ R92,29517%
[2] R92,33574%
R97,05788%
R97,06202%.
[5] R97,00865%.

Question 19
The following is the price equation for Bond AAA

96,80770 = 7,5a1g, + 32,09888
The yearly yield to maturity equals

[ 7,87%
2] 15,74%
[3] 16,55%
[4] 19,39%
[5] 21,6%

[TURN OVER]
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Question 20

You started saving to pay for your children’s university costs in 20 years’ time Your first payment was
R3 600 per year, after which your yearly payments increased by R360 each year If the expected mterest

rate per year is 10%, the amount that you expect to receive to the nearest rand on the maturity date
will be

[1] R213030.
[2] R340380
[3] R412380
[4 RA484380.

[5] none of the above

Question 21
If § = Pe® then t equals

noE=
[2] S;P_
[3] &£
[4] In(S—P )
5 2R

Question 22

You are depositing a monthly amount of R1 200 into an account earming 7,75% interest per year,
compounded quarterly The value of your savings rounded to the nearest hundred rand after 10 years
will equal

[1] R144000.
[2] R215900
[3] R216500
[4 R291100

[5] none of the above

Question 23

An mvestment with an mitial outlay of R500 000 generates five successive annual cash mflows of R75 000,
R190 000, R40 000, R150 000 and R180 000 respectively. The internal rate of return (IRR) equals

) 7,78%.
2] 9,48%.
3 21,3%.
4] 27,0%.

[5] none of the above

[TURN OVER]
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Question 24

A nommal nterest rate of 19,4% per year, compounded monthly, 1s equivalent to a continuous com-
pounding rate of

[1] 19,4%.
2]  19,558%.
3] 21,22%.
4 21,41%.

[5] none of the above

Question 25

The following 1s an extract from the amortisation schedule of a home loan

Month | Qutstanding Interest due | Monthly | Principal | Outstanding
principal at at month payment | repaid principal at
month beginning | end month end

147 R8155,83 A R2080,5¢ | R2014,27 | R6141,56

148 R6 141,56 1_:{&,90 R2080,54 | R2030,64 | B

149 B R33,40 R2080,54 | R2047,14 | R2063,78

150 R2063,78 R16,77 R2080,54 | R2063,77 | O

The value of A equals
1] R41,65.
[2]  R49,50.
[3] R66,27.
[4 R166,33
[5) RI167,86

Question 26

Three students each owe you an amount of R15 000. Nkosi must pay you R15 000 back in three months’
time from now, Lerato hers in five months’ time from now and Storm his 1n seven months’ time from
now It is now the end of May 2013. Due to the bad financal affairs of the students you tell them that
they can re-schedule their payments to the end of December 2013. However, you will charge simple
mterest at 10% per year from the time that they were each supposed to pay back their amounts of
R15 000 till the end of December 2013 The amount that you will receive at the end of December 2013
will equal

[1] R45750,00
[2] RA45757,33
3]  R46875,00.

[4 R47625,00

[5] none of the above.

[TURN OVER]
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Question 27

The following table supplies data of the inflation rate and the corresponding prime lending rate during
the same time period

Infiation rate Prime lending rate

(%)(x) (%) (y)
3,3 5,2
6,2 8,0
11,0 10,8
9,1 7.9
5.8 6,8
6,5 6,9
7.6 9,0

The correlation coefficient of the data equals

1] -0,908.
[2] +0,495
[3] +0,546
(4 +0,908

[5] none of the above

Question 28

Dieter owes Paul R3 000 due 10 months from now, and R25 000 due 32 months from now. Dieter asks
Paul 1f he can discharge his obligations by two equal payments one now and the other one 28 months
from now. Paul agrees on condition that a 14,75% interest rate, compounded every two months, 1s
applicable The amount that Dieter will pay Paul 28 months from now will equal approximately

(1 R11455
2] Rii511
[3] R11907.
[4 R14000
[5] R20000

[TURN OVER]
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Question 29

You must choose between two investments, A and B The profitability index (PI), net present value
(NPV) and internal rate of return (IRR) of the two investments are as follows

Criteria | Investment A | Investment B
NPV 44000 —22000
Pl 1,945 0,071
IRR 16,00 8,04

What nvestment/s should you choose, taking all the above criteria into consideration, 1f the cost of
capital is equal to 12% per year?

1] A

2] B

[3] Both A and B
[4] Neither A nor B

[5] Too httle information to make a decision.

Question 30

Charles has just realised that his silver anniversary is 20 months away He wants to buy his lovely
devoted wife Diana a diamond ring for the occasion He immediately starts to make monthly deposits
of R1 500 into an account earning 9,30% interest per year, compounded monthly After 11 deposits, he
increases his monthly payments to R2 500. The amount of money that Charles will have available just
before his anmversary to buy the diamond ring will equal

[1] R39000,00
[2] R39241,54.
[3] R40497,68
[4] R40677,56.

[5] R41921,42.

[TURN OVER]
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Day Jan Feb Mar Apr May Jun Jul Aug Sep Oct Nov Dec Day
1 1 32 60 91 121 152 182 213 244 274 305 335 1
2 2 33 61 92 122 153 183 214 245 275 306 336 2
3 3 34 62 93 123 154 184 215 246 276 307 337 3
4 4 35 63 94 124 155 185 216 247 277 308 338 4
5 LY 36 64 95 1256 156 186 217 248 278 309 339 5
6 6 37 65 96 126 157 187 218 249 279 310 340 6
7 7 38 66 97 127 158 188 219 250 280 311 341 7
8 8 39 67 98 128 159 189 220 251 281 312 342 8
9 9 40 68 99 129 160 190 221 252 282 313 343 9

10 10 41 69 100 130 161 191 222 263 283 314 344 10
11 11 42 70 101 131 162 192 223 254 284 315 345 11
12 12 43 1 102 132 163 193 224 255 285 316 346 12
13 13 44 72 103 133 164 194 225 256 286 317 347 13
14 14 45 73 104 134 165 195 226 257 287 318 348 14
15 15 46 74 105 135 166 196 227 258 288 319 349 15
16 16 47 75 106 136 167 197 228 259 2890 320 350 16
17 17 48 76 107 137 168 198 229 260 290 321 351 17
18 18 49 77 108 138 169 199 230 261 291 322 352 18
19 19 50 78 109 139 170 200 231 262 202 323 353 19
20 20 51 79 110 149 171 201 232 263 293 324 354 20
21 21 52 80 111 141 172 202 233 264 2904 3256 355 21
22 22 53 81 112 142 173 203 234 265 295 326 356 22
23 23 54 82 113 143 174 204 235 266 206 327 357 23
24 24 55 83 114 144 175 205 236 267 297 328 358 24
25 25 56 84 115 145 176 206 237 268 298 329 359 25
26 26 LY 85 116 146 177 207 238 269 299 330 360 26
27 27T 58 8 117 147 178 208 239 270 300 331 361 27
28 28 59 87 118 148 179 209 240 271 301 332 362 28
29 29 88 119 149 180 210 241 272 302 333 363 29
30 30 39 120 150 181 211 242 273 303 334 364 30
31 31 90 151 212 243 304 365 31

[TURN OVER]
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